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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BflE) | EBRMK@E) | ERE(EH/IN | EREE (/R [ XS ERF

08:10 273 150.0 2.583 [dhif§| FHEA@O8:10 kENFEF (RAfREER)
08:50 273 150.0 2.583 || FnHAe08:50 KEHFEFE (KREMERESE)
09:45 273 150.0 2.583 |dF| FiHB@09:45 KEFERF (RAMEEE)
10:30 273 150.0 2.583 [dhif§| FHHA@10:30 kENFEF CGRAMEEEE)
11:10 273 150.0 2.583 [dhig| FhHAe11:10 KEIEFE CGRAMFESE)
11:50 273 150.0 2.583 || FiHAe11:50 KREIEF CGREMERSE)
12:30 273 150.0 2.583 B[ FnHe12:30 REIEF (REERSR)
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RN S R FEPH 5. 5249999999999995, HFiEABH A% B #hiBEPH, 1BEF A%
B [EIRECE (1703.0 vs 4383.0) 15
B Z N S RFHIREC 2200. 0




P3-1_0, Day=78 (2025-06-15)
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P3-1
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P3-1

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

07:45 273 150.0 2.583 | =| {Ri%e07:45 B (KREEZBE)
08:45 273 150.0 2.583 |Z=| {Ri%e08:45 Bz (KREAEZEHE)
09:45 273 150.0 2.583 |Z=| {Ri%e09:45 Bzl (KEAERSE)
10:45 273 150.0 2.583 FA| {Ri%@10:45 Bz (GRAEEE)
12:40 273 150.0 2.583 FA| 1B2i%@12:40 Bzh (kB{EREE)
13:25 273 150.0 2.583 FE| 1Ri&@13:25 B (REAERSE)
14:10 273 150.0 2.583 FA| 1BRi%@14:10 B3h (RAHERSE)
14:55 273 150.0 2.583 FA| 1BRi%@14:55 B3h (kAIEREE)
2it]2184.0 (8%) 1200. 0 3HKEC: 2200, PH: 5.5

large discrepency for begining water status (445:69.0), set to 445 ml

Ei&%PH (7.5) K5

RIS RFHRPH 5. 5249999999999995, HFiEABH A% B 5iAIEPH, 1BF A%
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